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Second Examination Dynamics

2) Gear B is rotating clockwise with an
angular velocity of 300 rev/min. At t=2s, o5
gear A is given a counterclockwise angular (3002, &
acceleration a4 which varies with time for [3 @Q :

a duration of 4 s as shown in the graph. 2N L7 \
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3) Belore a cranberry can make it to your
dinner plate, it must pass a bouncing test
which rates its quality. 1l cranberries having

an ¢ = 0.8 are to be accepted, determine
the dimensions d and A for the barrier so
that when a cranberry falls from rest at A it
strikes the plate at 3 and bounces uchIlu W
barrier at . ISW\L VAR (1 W

Clearly label your coordinate system(s).
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